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10. Th 1l equation for the aerobic cellular respiration of glucose is:
a. e(?(:‘)r::?'lz(e)q—-'C¢.H1zOo+Oz+ATP+Heal b. CyH206+02—CO2+H0+ATP+Heat
d. C(,H|20g—' COZ"’EthyI

c. H ;20— Lactic acid+ATP+Heat
R alchohol+ATP+Heat

11. What is the nature of an enzyme?
a. Vitamin
c. Carbohydrate

12. Out of the following the one having highest redox potential is:
a. Ubiquinone b. O,
c¢. FMN d. NAD

13. All of the reactant will be converted to products:
a. Will never reach equilibrium b. Will not occur spontaneously

b. Lipid
d. Protein

c. Will proceed at a rapid rate d. Will proceed at a rapid rate
14. What is the maximum wavelength that Tryptophan and tyrosine absorb?

a. 280nm b. 260nm

c. 257nm d. 230nm

15. Sphingomyelins are found in:
a. Muscles
¢. Brain tissues

b. Nephrons
d. Hepatocytes

16 Metal ions that temporary binds substrate and active site of 'enzyme' is called:

a. Inhibitors b. Coenzymes
¢. Prosthetic group d. Cofactors

17. Glycerol is required for the formation of all the following except:
a. Glucose b. Triacylglycerol
¢. Phospholipids d. Glycolipids

18. If energy releases excessively in environment, having less energy products than
reactants, resulting reaction is called:

a. Redox reaction b. Thermodynamics

c. Exergonic reaction d. Endergonic reaction
19. Arrangement of nucleotides in DNA can be seen by:

a. Ultracentrifuge b. X-Ray crystallography

¢. Light microscope d. Electron microscope

20. A short length of DNA molecule has 80 thiamine and 80 guanine bases. The total
number of nucleotide in the DNA fragment is:

a. 160 b. 40
c. 320 . d. 640
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